CourseSmart - Instructors - Print

1of2

me: BERT WACHSMUTH

http://instructors.coursesmart.cony/print?xmlid=9780321645333/140&pagestoprint=1

Book: Introductory Mathematical Analysis: For Business, Economics, and. the Life and Social Sciences, Thirteenth Edition. Page: 140

r ?fhan book may be reproduced or transmitted by any means without the publisher's prior permission. Use (other than qualified fair use) in violation of the law or Terms of Service is prohibited. Violators will be prosecuted to the full
extent of the law.

140 Cnapior3 Lines, Perobolas, and Systams

b Find the average weight of a hen when o = 11

Sobution: When of = 10w = L(10) 4 40 = 354 + 40 = 294, Thus, the average
weight af @ hen 10 days after the beginning of the det is 294 prams.

Now Work Problem 13 3

PEBOBLEMS 12 -

In Proddesrr 10, Bad the slope and verticalseoor infercept nf M
Dosare funitiom, and shech diu grapk,

Loy fla]) = —dx L pemflamrgd
JLI Y T | 4 )= 55— i)
4 ,nwm-s—:_'] B hig) =115y 4 0,25

Ir! Preabl e .'-':-I-F. Fred Tl i e a fineor femcihion fhest dvar e
Fiven raperiies

7. sops =4 11 =8 B AN =3, fid=-5
il =) f-T=i Mk slope = —35, i) =
L sdope = —3, (-3 =— 1 fli=1 A0 =1
T | . A |

14 slope w01, Fl1 1) = (L0

15 Dvmnannd Equatiom  Suppoes conmmers will demand

60 umils of a prodct when the goice s $15 30 por umil snd

%5 units when the price 1s $16.00 sach. Fund the demand equation.
assuming that is & limear. Find the prace per unit when 3 umies are
demnaided.

168 Dvanand Equatsom  The demand per week fora Ok s
26N copios when the price 15 317 cach, smd 17000 copaes. when
i price is 318 cach, Find the demand equation for the T
assurning that if o linear.

17. Supply Eyueition A rebrgermior momafacturer will produce.
WO unile whan the price 5 3940, and 2200 uniiis when the pocn
19 3740, Assume chal prce. . md quantity, g, produced am
lingwrdy rebated orsd nd ihe =pply eguation,

I8 Supply Equifion  Supposs s mamelssioner of shoes will
place om the market M {choysand paire} whin e prce = 15
{dollare per pair) amd 35 when ihe price 19 ¥ Find the supply
equativa, sssammg thad price p sod quaniiey ¢ omo linewrdy

ol

1% Cost Equation  Suppose the cost bo peodoce [P uniisof a
prodhici i= $HE and the cost of 2 anes v 570, 1 cos, o8 hocarly
molabesd ko catpuit, i, Aod & B equadim rolaling ¢ amd ¢ Find
the om0 produce 35 nmits,

B Cost Equation  An adveriser goes b & prmer and is
charged S8 for L copics of one fyer aud 205 (or 200 copies of
anither yee This prnter charges & Baed sewp cosl plus & chage
Hor every cugry of angle-page Overs. Find o funcsos tim desoribes
the cont of & presging job. i 7 s the nnmber of copies made.

11 Elecirke Rates Aa clecirne wilicy company charpes

toeal momthly charpes for elecmciiy if 5 = the reasker of
kilereatt-howme used in p moath.

22 Rwidlation Theropy A comeee patient |s 1o reeeive dnig sl
rmlalion therapivs. Exch cubic contmwior of the dray o he usmd
cordsing 2 10 curative uniie, and sach minuie of radistom exposurs
gree= 305 curairve units. The patient requires 2410 cunsive umis.
IF & cubic centirmeiees of the drug and r menoies of rslisten are
sdmmistered., determine s eqantion relstng @ and r, Groph the
oqueation [oe o 2= b ped ¢ 2= 01 labe] the horeontal axs a o

23, Meprrcintiam  Suppose the value of & moumnn bike
decranses «ach wear by 0% of 23 onginal value, IT the ceiginal
walho i85 15900 find wn eceation th expresses the wibase v of the
Fake ¢ years alter purchies, whers §) < ¢ < 10 Skesich the equasion,
vhoosmg ¢ ax the horizominl axis ond v a8 the voriseal axizs, Whai =
the slope of the mesulting line™ This meihad of considering the
watwe ol egmprzani is salled miraighr-line depreciafion,

2 Ivprecialien A& new iclevision depreciales 520 per vear,
und # 15 worth 5340 afeer four years. Find o functiom thet describes
the value of thas selevisom, if « is the ape of the selevision in years

25, Appreciatiom A rew hoose was sald foo 51,183,000 5
years abier 1 was baili and purchased. The orgamal ownors
calenlaied thai the house appreciaied 553000 por vear while they
et 11 Find # fmesr fonction that descrbes the appeecistiom of
the benldmeg. in thoussade of doliars, if 7 s the numbser of e
=mop the original pamhases

6. Apprecintiom A howse paschased for 52485000 s expected

i douhle inoveloe in 15 years. Fingd o linear equaiion ihe
eseribes the Bouse's valoe sfier ¢ yess.

27, Hepaar Charpes A busine ss-copier repair cosngany
charges & fxed amount phes an bourly mme for oservice cafl Ila
cimtomer is hilled £159 (or & one-houe service call amd $287 for o
theee-hour service call. find o lingar funscion thet describes the
priceal o serviee call, whese 105 the Bumber of hotirs of service
25 Eheep Vool Lesmth For sheep mumtalned m high
ervipurmeninl lemgenioms. repatory mie. Fiper miade).
rreass a5 wood length, ! jan ceanmeiers ) decreises. ! Suppnss
sheep with o wod lenguh of 2 cm have an {ovempe) repliabony
pee ol Lk, anil those with & waod kength of 4 om e a
respiemtoey e of F25. Assume tha v s § ore linessly relobed. (a)
Find an equation that gives r bntems of 1 (B Find the esparaiory
e ol sheep with 4 wool lengdh of | em,

20 fegcssd Line  In prodooicns ssalysis, an isovesT B s o line
whise poims represant all combinstums of twa (o of
prodaction that cen be punchised for che S smount. Suppes o
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chmge el monih, e cusnmee's momithy bill comsss w 851,65 feriilizee feosting S50 per |..|.:.u;_1_. iofes .d'l..nj_-|-;;|-|;! L3000
(o 1500 kilisswan- houes. Find o s funorion thal desenkei the per nerel Find an eguston of the socoes fine tha desceibes the
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